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大学英语B试卷
第一部分：英语知识运用（共10小题；每小题2分，满分20分）

此部分共有10个未完成的对话，针对每个对话中未完成的部分有4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项并，用铅笔将答题卡上的相应字母涂黑。示例〔A〕〔B〕〔C〕〔D〕

1. I’m afraid I have to go now. 

So soon? Well, _________.

A. I enjoyed our talk together.    B. I don’t enjoy our talk together.

C. I think our talk is boring.      D. I have to go now.

2. Excuse me, could you tell me the time?

             .
A. I don’t know.   B. Why I must tell you?

C. It’s half past 5 by my watch.    D. You should take your watch.

3. I’ve been studying for my Ph.D degree here at the university.

                   .
 A. That’s nothing.   B. I don’t think so.  C. That’s wonderful.  D. I think so.

4. Excuse me, Jack, do you have a minute?

Yes. ___________.

A. What can I do for you?   B. I’m busy.   C. What are you doing?

D. I’m afraid not.

5. I wonder if you could tell me how I could improve my oral English?

                   .
A. I can’t.   B. I can.   C. My pleasure.  D. You can.

6. That guy who won the first prize speaks really fluent English. I do admire him.

                       .
A. We ,too.   B. You, too.   C. I, too.   D. Me, too.

7. I have an appointment with the dean. See you.

                    .
A. See you.    B. See me.   C. Next time.   D. I don’t want to.

8. I wonder if you have a one-bedroom apartment to rent.

                     .
A. Wait.   B. Let me check.   C. I don’t know.   D. Maybe not.

9. Everyone seems to be having a good time.

                     .
A. They do, don’t they?   B. They don’t, do they?   C. They are, aren’t they?

D. They aren’t, are they?

10. By the way, do you know the girl talking to Jack?

______? Oh, that’s Mary.

A. Who?   B. Why?    C. When?   D. Where?

第二部分：阅读理解 （共20小题；每小题2分，满分40分）
此部分共有4篇短文，每篇短文后有5个问题，每个问题后有4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项，并用铅笔将答题卡上的相应字母涂黑。示例〔A〕〔B〕〔C〕〔D〕

Passage 1
    Boy meets girl. They fall in love. They get married. It's a familiar story, the plot of countless books and Hollywood movies. But how does a boy meet a girl? It all begins with dating.

    Dating begins in high school. Boys and girls usually form groups with similar interests and tastes. They like the same pop music and fashion styles. They "hang out" at the same restaurants. Then one boy from the group may take a girl to see a movie, or they may go together to a fast food restaurant for a hamburger and coke. This is their first date. After the first date they may go on other dates and get to know each other more. Or things may not work out. The boy or the girl may start dating another partner. And so the ritual (仪式) goes on. As you get older dating becomes more difficult. You can meet members of the opposite sex at parties or in bars, at university or in your place of work. However, more and more people are putting a career and financial security ahead of courtship (追求)and marriage.

    In today's lonely world people also advertise for a date. Many newspapers carry columns from people looking for a life companion. You can also find a date by computer! The computer matches your character and personality with a suitable partner and puts you in contact with each other. Then you make a date. The success rate isn't high but there have been a few happy "computer marriages"!

11.Date in the passage has ________ meanings.

 A) 1

 B) 2

 C) 3

 D) 4

12.The best explanation of "hang out" in Para. 2 is "to ________".

 A) study out in a place

 B) spend a lot of time in a particular place or area

 C) work out

 D) sing and dance out

13.According to the passage, adults tend to attach more importance to ________.

 A) common interest

 B) others' opinion

 C) decent jobs and high salaries

 D) intuition

 14.The author thinks that ________.

 A) dating in high school is usually unsuccessful

 B) dating will be easier for you after you graduate from the high school

 C) people have more choices at university or at work

 D) adults care more about their work and money

 15.In the sense of love-matching, computer is ________.

 A) always unsuccessful

 B) successful sometimes

 C) often successful

 D) of no use
Passage2
Lincoln's now famous Gettysburg Address (葛底斯堡演说) was not, on the occasion of its delivery, recognized as the masterpiece that it is today. Lincoln was not even the primary speaker at the ceremonies, held at the height of the Civil War in 1863, to dedicate the battlefield at the Gettysburg. The main speaker was orator (演学家) Edward Everest, whose two-hour speech was followed by Lincoln's shorter remarks. Lincoln began his small portion of the program with the words that today are immediately recognized by most Americans: "Four score and seven years ago our father brought forth on this continent a new nation, conceived in liberty and dedicated to the proposition that all men are created equal. " At the time of the speech, little notice was given to what Lincoln had said, and Lincoln considered his appearance at the ceremonies rather unsuccessful. After his speech appeared in print, appreciation for his words began to grow, and today it is recognized as one of the all-time greatest speeches.
16.The main idea of this passage is that ________.

 A) the Gettysburg Address has always been regarded as a masterpiece

 B) at the time of its delivery the Gettysburg Address was truly appreciated as a masterpiece

 C) it was not until after 1863 that Lincoln's speech was recorded in history

 D) Lincoln is better recognized today than he was at the time of his presidency

17.Which of the following is TRUE about the ceremonies at Gettysburg during the Civil War?

 A) Lincoln was the main speaker.

 B) Lincoln gave a two-hour speech.

 C) Everest was the closing speaker.

 D) Everest's speech was longer than Lincoln's.

18.According to the passage, when Lincoln spoke at the Gettysburg ceremonies, ________.

 A) his words were immediately recognized by most Americans

 B) he spoke for only a short period of time

 C) he was enthusiastically cheered

  D) he was extremely proud of his performance

19.When did Lincoln's Gettysburg Address begin to receive public acclaim?

  A) After it had been published.

  B) Immediately after the speech.

  C) Not until the present day.

  D) After Lincoln received growing recognition.

20.The pronoun "it" in the last sentence refers to which of the following?

   A) His speech.

   B) Print.

   C) Appreciation.

   D) His appearance.
Passage 3

   Much of the world's coffee is grown in Brazil. Not long ago an unseasonal frost swept through coffee plantations there. The result affected people in many countries for a long time to come.

    At first, reports of extensive damage were received. These led to a sharp rise in the price of coffee, which had hitherto not been a highly profitable crop. Growers in other countries made extra efforts to increase their exports to profit from the expected shortage. However, they are hampered by smugglers who wished to avoid government controls. The price of coffee fell slightly.

    Then large restaurant and hotel chains began to buy coffee to build up stocks for future use. The price rose dramatically, and public resistance developed. Housewives organized a boycott of coffee. This led to a rise in the price of tea and a fall in the price of coffee. Much to the dismay of growers, the price fell sharply. Their response was rather surprising. Instead of selling their stocks of coffee, they began to buy on the open market. Their motive was clear. They wanted to force the price of coffee up, and one way of doing this was to reduce the amount of coffee available for sale to the pubic.

Luckily for coffee-drinkers, this move failed. Restaurants and hotels stopped buying coffee. Large numbers of small growers had to sell their crops to keep alive. The large growers found that they were buying more coffee than they were growing. They abandoned their efforts and let the normal law of supply and demand decide the price. Meanwhile, millions of people had changed to cheaper drinks and declined to switch back to coffee.
21.As far as we can tell from the passage, before this frost came, the Growing of
 coffee ________.

       A) was extremely profitable

       B) was not extremely attractive financially

       C) was popular in Africa

       D) had been going on well in Brazil

    22.How did women react when the price of coffee rose considerably?

       A) They bought large stocks for use in the future.

       B) They appealed to people to force the price down by not buying coffee.

       C) They started to smuggle coffee to escape control by the government.

       D) They passage does not contain any information on this point.

    23.Growers started to buy coffee, ________.

       A) in order to provide more coffee for the people who drank coffee

       B) in case of the coffee shortage in future

       C) so as to gain more profit

       D) so as to support the public resistance to the rise of coffee price

    24.One outcome of the changes in the price of coffee was that ________.

       A) the growing of coffee became even less profitable than in previous years

       B) many growers decided not to grow coffee in future

       C) many people switched from tea to coffee despite the changed price

       D) the demand for coffee eventually decreased

   25.Taken as a whole, this passage deals with ________.

       A) the foolishness of coffee-growers

       B) the effect of weather on a crop

       C) the factors which led people to change from coffee to tea

       D) the reasons for changes in the price of coffee
Passage 4
Summer's heat threatens all runners with serious injury, whether they are excellent marathoners or casual joggers. Fortunately, research into the body's responses has discovered new approaches with the problem.

    Running can increase internal heat production ten to fifteen times. This can raise core body temperature as much as five degrees in an hour. Overheating is complicated by water loss. Two to three quarts of sweat can be lost each hour, causing blood volume to dip. If it drops low enough, blood pressure falls, circulation (循环) is weakened, and the brain and other organs are deprived of (剥夺) oxygen. The dizziness (头晕) of heat exhaustion is the result. Heat stroke occurs when the body's core temperature reaches 105 to 107 degrees Fahrenheit. Neurological (神经的) and cardiovascular (心血管的) systems collapse, damaging the brain. The risk of death ranges from 50 to 80 percent.

    Many exercisers mistakenly think they are safe as long as they are sweating. Contrary to popular belief, a deadly heatstroke can occur in the presence of sweating clumsiness, stumbling (走路摇晃), lack of sweating or excessive sweating, headache, dizziness or any impairment (损害) of consciousness. But heat injury can come on in the way that people may not realize they are getting into trouble.

Some scientists suggest six ounces of water every 15 to 30 minutes of activity to supply lost fluid. Water is ideal substance, because it passes quickly from the stomach to the blood. Forget about Cola. Sugar slows the process, and caffeine promotes (促进) water loss. The following preventive measures are also suggested: Avoid exercise between noon and 2 p.m.; slowly get used to the heat; wear a hat; dress in lightweight, light-colored clothing to permit water loss and to reflect the sun's rays.
    26.According to the passage, running can increase_____.

       A) internal heat production ten to fifteen times

       B) core body temperature five degrees in a minute

       C) external heat production ten to fifteen times

       D) water loss

    27.Water loss can make blood volume to ________.

       A) drop

       B) rise

       C) keep unchanged

       D) stop flowing

    28.When the body's core temperature reaches 106 degrees Fahrenheit, what

       will happen?

       A) Dizziness.

       B) Heatstroke.

       C) Headache.

       D) Sweating.

    29.From Para. 3, we know that heat injury comes on _____.

       A) obviously

       B) quickly

       C) gradually

       D) strongly

    30.According to the passage, which of the following is true?

       A) Sweating can make runners safe.

       B) Cola is the best substance to supply lost fluid.

       C) People had better exercise between 1 p.m. and 2 p.m.

       D) Sweating can't make runners safe.
第三部分：词汇和结构 （共25小题；每小题1分，满分25分）
第一节：此小节共有15个未完成的句子，针对每个句子中未完成的部分有4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项，并用铅笔将答题卡上的相应字母涂黑。示例〔A〕〔B〕〔C〕〔D〕
31．The cost of the house may be lower than we first thought; but _______ it will still be beyond our reach.
    A. in case
B. in no case
C. in case of
D. in any case


32. Something is worrying me, but I can’t ________ exactly what it is.
A. deny
B. define
C. decline
D. deprive

33. Actress hated to play the sweet passive women that audiences _______ her ______.
A. identified; with
B. identified; to
C. intrigued; with
D. intrigued; to

34．Food and clothing are the bare ______ of life.
A. necessary
B. belongings
C. necessities
D. items

35．The agency is more ______ making arty ads than understanding its clients(客户). 
A. related with
B. associated with
C. determined to
D. concerned with

36.They were on their way to the university when their car was involved in a ______ with a truck.
   A. crash
B. collision
C. explosion
d exploration

37. He used to ______ his toys all over the floor and I had to pick them up.
A. scatter
B. scan
C. stun
D. sway

38. It is a miracle that John______ the air crash while all the others were dead.

A. saved
B. survived
C. surrounded
D. searched

39. She was so angry that she __________ on him.

A. hang out
B. hang in
C. hang down
D. hang up 

40. You can’t see through a telescope unless it is_____ correctly ___ your sight.

A. adjusted….to

B. adjust….. on

C. adjusted…..down
D. adjust…..up

41. He was ______ from the sinking aircraft by a passing ship.

A. recovered  
B. repaid
C. replied
D. rescued

42. It is your turn to ____ the bedroom ___.

A. clean….up  
B. clean….out  
C. clean….down 
D. clean…in

43. He would, when in office, _____ that all secret data be made public.

A. sure
B. ensure
C. insure
D. certain

44. Small quantities of poison were ______ in the dead man’s stomach.

A. delayed
B. decreased
C. degree
D. detected

45. Despite the failure of his early experiments, the scientist ____ in his research.
A insisted
B persevered
C continued
D resumed

第二节：此小节的短文中共有10个空白处，针对每个空白处有4个选项，请你从A、B、C、D四个选项中，选出可以填入空白处的最佳选项，并用铅笔将答题卡上的相应字母涂黑。示例〔A〕〔B〕〔C〕〔D〕

The United States is a land of many _46__. Its people have come from different homelands and have __47__ their own customs from all parts of the world. __48__ they live and work in a modern, __49__ society, they want to __50__ their traditions and pass them __51 to their children. So, in their daily lives, many Americans continue to speak their __52__ language as well as English. They cook traditional foods. They practice their own religions and have their own way of thinking __53__ life and death. In addition, they set __54__ time to celebrate the important occasions of their native culture __55_ special ceremonies.

46. A) states
B) areas
C) cultures
D) fields
    47. A) brought
B) had
C) developed
D) borrowed

    48. A) Unless
B) Although
C) For
D) If

    49. A) changed
B) excited
C) exciting
D) changing

    50. A) prevent
B) preserve
C) predict
D) protest

    51. A) off
B) through
C) in
D) on

    52. A) negative
B) necessary
C) native
D) narrative

    53. A) about
B) of
C) for
D) out

    54. A) about
B) off
C) out
D) aside

    55. A) on
B) in
C) with
D) by

第四部分：写作 （满分15分）
要求你在30分钟内， 根据下面所给的题目用英语写出一篇不少于80词的短文。

My Hobby
参考答案

Part one

1~5 ACCAC 6~10 DABAA
Part two

11~15 CBCDB 16~20 DDBAA 21~25 BBCDD 26~30 AABCD
Part three

31~35 DBACD 36~40 BABDA 41~45 DABAB

46~50 CABDB 51~55 DCADC

Part four（略）
